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NO. 2+4. 71 5.974 10. 44 5. 65 2.12
EC. 1 (NO. 2+12. 955) 8.35 5.974] 5.9740 49. 883 10. 42 10. 430 87. 09 5.64 5. 645 47. 14 2.11 2. 115 17. 66
NO. 3 7.05) 5.813 5.8935 41. 549 10. 13 10. 275 72.44 5.49 5. 565 39. 23 2.04 2.075 14. 63
NO. 3+18. 46 18.46  5.497  5.6550 104. 391 9.73 9.930 183. 31 5. 28 5. 385 99.41 1. 95 1. 995 36. 83
NO. 4 1.54  5.497  5.4970 8. 465 9.73 9. 730 14. 98 5. 28 5. 280 8.13 1. 95 1. 950 3.00
EP (NO. 4+3. 663) 3.66/ 5.497 5.4970 20. 119 9.90 9. 815 35.92 5. 36 5.320 19. 47 1.99 1. 970 7.21
m m’ m’ Hm® m’
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NO. 2+4. 71 1.6 1.03 0.121
EC. 1 (NO. 2+12. 955) 8.35 1.6 1. 60 13.4  1.04  1.035 8.64 0.126 0.1235 1. 031
NO. 3 7.05 1.6 1. 60 11.3  1.08  1.060 7.47  0.139  0.1325 0. 934
NO. 3+18. 46 18. 46 1.6 1. 60 29.5  1.05  1.065 19.66  0.133  0.1360 2.511
NO. 4 1.54 1.6 1. 60 2.5, 1.05  1.050 1.62  0.133  0.1330 0. 205
EP (NO. 4+3. 663) 3.66 1.6 1. 60 5.9 0.97  1.010 3.70  0.105  0.1190 0. 436
m m2 m2 I’Il3 m2
& @ 39. 06 62. 6 41.09 5.117 0. 00
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LS Hmm) hi(mm) | h2(mm) | h3(mm) | hd(mm) [ h5(mm) | SL1 (mm)| SL2(mm)| SL3 (mm)| SL4 (nm)| B (mm) Wimm)
NO.1+16.08 5600 5050 550 4000 4110 990 5646 4291 4176 1034 1620 440
NO. 2 5600 5050 550 4000 4110 990 5646 4291 4176 1034 1620 440
NO.2+4. 71 5600 5050 550 4000 4110 990 5646 4291 4176 1034 1620 440
EC. 1(ND.2+12.955) 5600 5040 560 3990 4100 1000 5635 4280 4166 1044 1620 450
ND. 3 5500 4910 590 3850 3970 1030 5489 4145 4019 1075 1600 470
NO.3+18.46 5300 4720 580 3670 3790 1010 5277 3957 3831 1054 1560 460
NO. 4 5300 4720 580 3670 3790 1010 5277 3957 3831 1054 1560 460
EP(NO. 4+3.663) 5300 4790 510 3750 3870 930 5355 4040 3915 M 1560 410
HnEX
LS avyy=+rimd) Bi(n2) EBI(#n2) EABE(n3) EERE(n2) AT =34vayhY-+(n2) | BR2 S Y —t(n3)
NO.1+16.08 5.974 10,44 5.65 2.12 1.6 1.03 0.121
NO. 2 5.974 10,44 5.65 2.12 1.6 1.03 0121
NO.2+4. 71 5.974 10,44 5.65 2.12 1.6 1.03 0121
EC. 1(ND.2+12.955) 5.974 10.42 5.64 2.1 1.6 1.04 0.126
ND. 3 5.813 10.13 5.49 2.04 1.6 1.08 0.139
NO.3+18.46 5.497 9.73 5.28 1.95 1.6 1.05 0.133
NO. 4 5.497 9.73 5.28 1.95 1.6 1.05 0.133
EP(NO. 4+3.663) 5.497 9.90 5.36 1.99 1.6 0.97 0.105
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